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A knot diagranﬂ €3 Ci1 C2 Cio Cp Cs Cg
Ideals for irreducible component#ﬂ)f Xpar
It = (2u® 4+ 7u® + -+ 20— bu, —3u®® — 116?24+ +2a+8, u®* +3u® +-. —5u—1)

I = (—vfa+b, va+a®+u’+a—u+2, ub—u*+2u—1)

* 2 irreducible components of dim¢ = 0, with total 30 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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L I} =

(2u2+Tu??2+.. . +2b—5u, —3u?3—11u?*2+4-..4+2a+8, u?*+3u?3+4...—5u—1)

(i) Arc colorings

ag =

ag =

u? 4+ 2u® +u
ag = \ —u® —ud+u

(ii) Obst

ruction class = —1

(iii) Cusp Shapes
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cy W 4B+ +8u+1
C2 u?* 160 + - —16u+ 1
c3,Cg P —uB 4+ —96u— 64
& u? — e o 2u+1
Co W 3B 1
c7,C10, C11 W =3B+ 4+5u—1
Co u?* — 13u + .- — 995u + 563




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C4 y? 16y + - — 16y + 1
C2 y —12yB . — 612y + 1
c3,C8 y*t — 35y + ... — 13312y + 4096
Cs v —4oyP 4. — 16y + 1
Co = 33yP . 1y +1
C7,C10,C11 y24+19y23+--~—11y+1
¢ 24 23
9 Y=t —b83y*° + - - - + 17132945y + 316969




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C)

Cusp shape

u = —0.977245 4 0.0717761
a= 0.150461 + 0.4776641
b= —1.86833 + 0.850251

—13.8937 + 5.65221

—11.88129 — 3.051701

u = —0.977245 — 0.0717761
0.150461 — 0.4776641
b= —1.86833 — 0.850251

a =

—13.8937 — 5.65221

—11.88129 4 3.051701

u = —0.944342
a = —0.374599
b= 1.57977

—9.62200

—9.45700

u = —0.132356 4 1.1016401
a= 0.224192 — 1.2626807
b= —1.38202 + 0.857321

2.09684 + 3.392371

—6.49952 — 2.220481

u = —0.132356 — 1.1016401
0.224192 + 1.2626801

a =

2.09684 — 3.392371

—6.49952 + 2.220481

b= —1.38202 — 0.857321
u = 0.369901 4 1.0560501

a= 0.19239 — 1.754351
0.509437 + 0.6887241

—1.33599 — 3.113241

—9.44737 + 3.665441

u=0.369901 — 1.0560507
a= 0.19239 + 1.754351
0.509437 — 0.6887241

—1.33599 + 3.113241

—9.44737 — 3.665441

u = 0.023030 + 1.1707401
a= 0.00332 + 1.525051
0.53462 — 1.450601

3.34786 — 1.429331

—3.02808 + 3.245761

u = 0.023030 — 1.1707401
a= 0.00332 —1.525051
0.53462 + 1.450601

3.34786 + 1.429331

—3.02808 — 3.245761

u = 0.736962 4 0.2455341
a= 0.482708 + 0.1723561
1.141730 — 0.5172951

—3.71809 — 1.000131

—12.92204 4+ 1.611081




Solutions to I7*

V=1(vol + y=1C)

Cusp shape

= 0.736962 — 0.2455341
0.482708 — 0.1723561
1.141730 4 0.5172951

—3.71809 4 1.000131

—12.92204 — 1.611081

0.149866 + 1.3010801
0.468754 + 1.0011001
= —0.632329 — 1.1091601

3.26690 — 2.112931

—4.50894 + 4.472861

= 0.149866 — 1.3010801
0.468754 — 1.0011001
= —0.632329 + 1.1091601

3.26690 + 2.112931

—4.50894 — 4.472861

—0.521270 4+ 1.2554601
1.48874 — 0.974321
—1.105310 — 0.5342311

—10.25040 — 0.341531

—9.34191 — 0.169341

—0.521270 — 1.2554607
1.48874 + 0.974321
—1.105310 + 0.5342311

—10.25040 +- 0.341531

—9.34191 + 0.169341

—0.461477 4 1.3002101
= —0.98110 4 1.484111
= 1.37119 —0.776371

—5.57948 4 5.013061

—6.18016 — 2.857691

= —0.461477 — 1.3002101
= —0.98110 — 1.4841171
= 1.37119+40.776371

>~ Q@ €|l @ €| & €| & & & 8|l & 8| &
Il

—5.57948 — 5.013061

—6.18016 + 2.857691

= 0.24692 + 1.393531
= —1.57305 + 0.001811
= 2.02058 — 0.674621

1.55911 — 4.483211

—9.00126 + 3.052531

= 0.24692 — 1.393531

= 2.02058 4 0.674621

1.55911 + 4.483211

—9.00126 — 3.052531

= —0.45937 + 1.356511
1.05212 — 2.069981

U
a
b
U
a = —1.57305 — 0.001811
b
U
a
b= —2.35956 4 1.452571

—9.4212 + 10.77641

—8.42021 — 5.673351




Solutions to I* Vv—1(vol + +/—1CS) Cusp shape

u = —0.45937 — 1.356511

a= 1.05212 + 2.069981 —9.4212 — 10.77641 | —8.42021 4 5.673351
b= —2.35956 — 1.452571
u = 0.450904
a= 0.305459 —0.785516 —12.5270
b= —-0.393799
u = —0.228245 + 0.1589941
a= 0.02603 — 2.871561 —0.34648 — 1.755641 | —2.27719 4 2.424801

b= —0.322979 — 0.5862381

u = —0.228245 — 0.15899471
a= 0.02603 + 2.871561 —0.34648 + 1.755641 | —2.27719 — 2.424801

b = —0.322979 4 0.5862381




II. I¥ = (—u?a+b, v?a+a?+ v’ +a—u+2, u* —u?+2u—1)

o= )
(2
(i
()
()
o= ()
(
e
(-
("
(1

al =
ag =
aq =

—au + 2a
wla+au—a

u? —u+1)
U
U

uw+a+u+1
w?a —2u+1

o ()
- ()

(ii) Obstruction class =1

(iii) Cusp Shapes = —5u?a + 3au — 5u® — 4a + 5u — 16



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C2,C5 (u? +u+1)3
cs3,C8 u®
Cy4 (u2 —u+ 1)3
€6, Cy (u® +u? —1)?
€7 (u® —u? +2u —1)2
€10, C11 (u® 4+ u? + 2u + 1)?




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,Cq4 (y2+y+1)3
cs
C3,C8 yG
€65 Co (v’ —y* +2y—1)°
€7, €105 €11 (v + 3y* + 2y — 1)?
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Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C)

Cusp shape

0.215080 + 1.3071401
= 0.818128 + 0.2924801
= —1.52448 — 0.026191

3.02413 — 0.798241

—6.43615 — 0.685671

= 0.215080 + 1.3071401
= —0.155769 — 0.8547591
= 0.73956 + 1.333331

3.02413 — 4.8580171

—2.88198 4 6.082291

= 0.215080 — 1.3071401
= 0.818128 — 0.2924801

3.02413 + 0.798241

—6.43615 + 0.685671

= 0.215080 — 1.3071401
= —0.155769 + 0.8547591
0.73956 — 1.333331

3.02413 4 4.858011

—2.88198 — 6.082291

0.569840
= —0.662359 + 1.1472401
= —0.215080 + 0.3725291

—1.11345 + 2.029881

—12.18187 — 4.490371

= 0.569840
= —0.662359 — 1.1472401

U
a
b
U
a
b
U
a
b= —1.52448 + 0.026191
U
a
b
U
a
b
U
a
b = —0.215080 — 0.3725291

—1.11345 — 2.029881

—12.18187 +- 4.490371
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing
1 (W24 u+ 1)) (W +4u® + - +8u+1)
C2 (u? +u+ 1)) (W + 160> + - — 16u + 1)
c3, Cg uS(u?t —u? 4 - — 96u — 64)
Ca (u? —u+ 1)) (W +4u® + - +8u+1)
€ (u? +u+ D)W —4u® 4+ 4 2u+1)
o (W@ +u2 = 1)) + 3B+ +u—1)
¢ (u® —u? +2u —1)?)(u®* —3u® + - +5u—1)
Co (u® +u? = 1)) (u®* — 13u®® + - - — 995u + 563)
€10, €11 (u +u? +2u+1)?)(u®* —3u® + - +5u—1)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1s ¢ (> +y+ D)™ + 169> + - — 16y + 1)
€2 (P +y+ 1) — 120> + - =612y + 1)
¢s, Cs YO (y** — 35y%3 + - -~ — 13312y + 4096)
¢ (P +y+ 1)) (> — 40y +--- =16y + 1)
6 ((* —v* +2y = 1)*)(y** = 33y* +--- — 11y + 1)
¢7, €10, C11 (P +3° 42y — D)+ 19923 + .- — 11y + 1)
“ () — 2+ 2y — D)D) (y** — 53y + -+ 1.71329 x 107y + 316969)
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